Alexandrium tamarense

Aexandrium catenella Alexandrium tamiyavanichii

1
Dinophysis fortii Dinophysis
7 8 (1) o5 4 7 acuminata
26 3 1 5 lcell s/ mL 8um
100 lcell s/ mL
5 1 3 1 mL
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H25.4.2 11.2 32.3 - - - - - H25.4.15 15.3 30.8 0.12 - - -
H25.4.9 12.8 32.2 0.01 - - 0.02 H25.4.23 14.4 259 0.02 - - - -
H25.4.16 12.7 32.3 = = - 0.01 0.02 H25.4.30 15.2 30.3 0.20 - - -
H25.4.22 129 32.3 0.01 - - - 0.02 H25.5.7 16.5 30.0 - - - - 0.01
H25.5.1 14.0 32.3 = = = = = H25.5.14 16.6 287 - 0.03 - - -
H25.5.8 15.0 32.3 - - - - 0.02 H25.5.20 17.1 30.3 - 0.41 - - -
H25.5.13 16.4 32.3 0.01 = = = = H25.5.27 17.8 30.1 - 0.19 - - -
H25.5.21 18.2 32.3 = = = = = H25.6.4 19.4 26.3 - - - - -
H25.5.30 18.9 32.3 = 0.01 = = = H25.6.11 20.2 30.2 - 0.24 - - 0.03
H25.6.5 19.8 32.4 = = = = = H25.6.18 23.2 204 - - - - -
H25.6.12 20.4 325 = 0.01 = = = H25.6.25 22.3 20.8 - - - - -
H25.6.19 229 32.2 = = = = = H25.7.3 21.2 293 - - - - -
H25.6.26 21.6 31.4 - - - - - H25.7.9 27.6 184 - - - - -
H25.7.1 22.4 32.0 - - - - - H25.7.17 25.2 24.8 - - - - -
H25.7.10 24.9 31.8 - - - - - H25.7.23 27.7 27.8 - - - - -
H25.7.19 25.1 31.6 - - - - - H25.7.30 25.8 26.1 - - - - -
H25.7.26 26.1 31.8 - - - - - H26.3.3 9.8 26.8 - - - - -
H25.7.31 26.1 31.6 - - - - - H26.3.17 11.9 - 0.27 - - - -
H26.3.4 9.1 32.3 0.08 = = = = H25.4.1 14.3 30.5 - = - - 0.01
H26.3.11 89 32.4 0.03 - - - - H25.5.7 16.5 32.2 - 0.10 - - -
H26.3.18 10.3 32.2 - - - - - H25.5.14 18.9 32.1 - 0.20 - - 0.01
H25.4.15 14.9 31.7 0.10 - - - - H25.5.20 175 32.7 - 0.04 - - -
H25.4.23 13.5 31.0 = = = = = H25.5.27 18.9 33.0 - - - - -
H25.4.30 14.7 30.4 0.01 = = = 0.01 H25.6.4 23.0 324 - 0.75 - - -
H25.5.7 15.3 30.1 = = = = = H25.6.11 21.5 322 - 0.22 - - -
H25.5.14 17.7 30.8 = = = = = H25.6.18 24.0 323 - 0.01 - - -
H25.5.27 19.3 29.6 = = = = = H25.6.25 23.1 289 - - - - -
H25.6.4 21.0 30.9 = = = = = H25.7.3 21.6 328 - - - - -
H25.6.11 19.8 30.2 = 0.85 = = = H25.7.9 25.8 30.2 - - - - -
H25.6.18 229 30.2 = 0.01 = = = H25.7.17 27.7 30.2 - - - - -
H25.6.25 21.6 30.3 - - - - - H25.7.23 27.6 320 - - - - -
H25.7.3 22.1 29.1 - - - - - H25.7.30 27.9 315 - - - - -
H25.7.9 25.6 25.6 - - - - - H26.3.10 11.6 32.3 0.02 - - - -
H25.7.23 25.6 29.9 - = = = = H25.4.1 13.9 247 0.17 = - - =
H25.7.30 24.9 29.5 - - - - - H25.4.8 13.3 19.7 - - - - -
H26.3.4 10.2 30.4 - - - - - H25.4.15 16.2 28.3 - - - - -
H26.3.18 11.5 - 0.02 - - - - H25.4.23 17.6 29.1 0.06 - - - 0.01
H25.4.1 11.7 29.3 - = = = = H25.4.30 15.9 311 - 0.39 - - 0.02
H25.4.8 13.5 26.0 = = = = = H25.5.7 17.0 325 - 0.17 - - -
H25.4.15 15.9 29.2 0.03 = = = = H25.5.14 18.1 32.6 - 0.20 - - 0.01
H25.4.23 15.6 29.4 0.06 = = = 0.01 H25.5.20 18.1 325 - 0.03 - - -
H25.4.30 16.2 28.8 0.06 = = = = H25.5.27 19.4 32.8 - 0.01 - - -
H25.5.7 17.9 29.6 = = = = = H25.6.4 21.2 331 - 1.03 - - -
H25.5.14 20.0 26.1 = = = = = H25.6.11 21.9 33.0 - 044 - - -
H25.5.20 19.2 29.5 = 0.04 = = = H25.6.18 245 327 - 0.01 - - -
H25.5.27 21.4 29.1 = 0.08 = = = H25.6.25 23.1 315 - - - - -
H25.6.4 21.7 29.0 = 0.04 = = = H25.7.3 22.0 32.6 - - - - -
H25.6.11 21.8 29.0 = 5 = = = H25.7.9 26.3 30.9 - - - - -
H25.6.18 26.0 29.0 - 0.03 - - - H25.7.17 27.1 319 - - - - -
H25.6.25 22.3 27.3 - - - - - H25.7.23 27.0 326 - - - - -
H25.7.3 21.8 22.8 - - - - - H25.7.30 27.3 32.8 - - - - -
H25.7.9 23.9 22.9 - - - - - H26.3.10 12.0 32.3 0.26 - - - -
H25.7.17 26.0 23.9 - = = = = H25.4.1 12.4 30.4 - = - - =
H25.7.23 27.5 28.3 - - - - - H25.4.8 14.6 15.0 - - - - -
H25.7.30 25.8 25.4 - - - - - H25.4.15 17.2 30.8 0.07 - - - 0.01
H26.3.4 10.6 26.3 - - - - - H25.4.23 16.1 30.0 0.46 - - - -
H26.3.18 11.5 — 0.04 — — — — H25.4.30 15.9 26.7 - 0.57 - - -
H25.4.15 17.3 22.6 0.02 = = = = H25.5.7 16.9 30.6 0.68 - - - 0.01
H25.4.23 15.2 27.3 = = = = 0.01 H25.5.14 17.6 325 - 0.88 - - -
H25.4.30 16.2 24.8 0.10 = = = = H25.5.20 17.5 32.6 - 0.12 - - -
H25.5.7 17.6 29.0 = = = = 0.01 H25.5.27 20.2 32.8 - 0.10 - - -
H25.5.14 20.1 29.2 = 1.12 = = = H25.6.4 20.5 32.6 - 0.93 - - -
H25.5.20 20.4 22.7 = 0.11 = = = H25.6.11 21.2 328 - 67 - - -
H25.5.27 21.3 24.3 = 0.02 = = = H25.6.18 235 327 - 0.08 - - -
H25.6.4 22.6 29.3 = 12 = = = H25.6.25 22.2 283 - 0.10 - - -
H25.6.11 22.2 26.5 = 5 = = 0.01 H25.7.3 21.4 32.6 - - - - -
H25.6.18 25.7 246 = 0.02 = = = H25.7.9 26.0 30.7 - - - - -
H25.6.25 22.7 21.4 - - - - - H25.7.17 27.1 310 - - - - -
H25.7.3 227 11.4 - - - - - H25.7.23 26.3 32.3 - - - - -
H25.7.9 26.7 10.0 - - - - - H25.7.30 26.9 324 - - - - -
H25.7.17 27.6 21.5 - - - - - H26.3.10 11.1 32.2 0.01 - — — -
H25.7.23 27.5 25.7 - = = = =
H25.7.30 26.6 23.1 - - - - -
H26.3.4 9.7 10.5 - - - - -
H26.3.18 11.7 - 0.05 - - - -
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4 23 4 30 3 3 3 10 3 17 3 25
4 23 4 30 3 3 3 10 3 17 3 25
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